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At the end of running the Ethernet spanning tree algorithm, which OMNE of the following is
determined by the participating switches?

a. root bridge ID

b. longest path length in the tree

c. number of leaves in the tree

d. number of hosts connected to each port
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The main purpose of the Ethernet spanning tree algorithm is . (Choose the BEST

option below).
a. to detect IP address duplicates
b. to detect Ethernet address duplicates
c. to form a loop-free topology
d. to find optimal paths to each destination
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In an Ethernet extended LAN, what do "learning bridges" learn? (Choose one option
below).

the forwarding table

mapping from ethernet address to IP address

whether other bridges are active/passive

whether there are duplicate ethernet addresses

8o o
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In an Ethernet extended LAN, when a bridge looks at the source MAC address of a data
frame, it . {(Choose the BEST option below).

a. updates its path to the root bridge

b. updates its set of active ports

¢. learns the outgoing port to use for frames destined to that source host

d_learns the number of hops in the path from that source host
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Which ONE of the following represents the columns of the forwarding table at an
Ethernet bridge the best 7

a. (destination MAC address, next-hop bridge |D)

b. (destination IP address, next-hop IP address)

c. (destination MAC address, outgoing port)

d. (destination IP address, path to destination)
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Which ONE of the following is the primary purpose of VLANS in Ethernet?
a. Connecting to non-Ethernet networks
b. Supporting virtual circuits
c. Supporting multiple virtual machines per port
d. Traffic isolation
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Which ONE of the following is an advantage resulting from circuit switching (compared
io packet switching)? Choose the BEST option below.
a. Fault tolerance
. High channel utilization

b
¢ Guaranteed bandwidth for flows
d

. Mo flow setup delay .
www.FirstRanker.com
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How are packets forwarded toward the destination in packet switching? Choose the
BEST option below.

a. By sending the incoming packet to all outgoing interfaces

b. By looking at the packet header

c. Bysending the incoming packet to google.com

d. By looking at the packet contents
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When using circuit switching, what should the link capacity be (in kbps) if you want to
support 10 users, each requiring 100kbps. Assume a user is active only 10% of the time.
a. 10kbps
b. 100kbps
c. 1Mbps
d. 10Mbps
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Which among the following switching techniques is BEST for bursty user traffic, which
technique supports more number of users?

a. Packet switching
o

b —iredit-swiehing
c. Virtual circuit switching
d. Short circuit switching
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In the source routing scheme, why is the packet header length variable? Choose the
BEST option below.

a. Different destinations are at different hop counts

b. Different destinations have different resource requirements

c. Different destinations need different amount of data payload

d. Different destinations have different processing capabilities

2886078654. 1
2886078655. 2
2886078656. 3
2886078657. 4

Which technique has the lowest per packet overhead?
a. Circuit switching
b. Wirtual Circuit Switching
c. Datagram switching
d. Source routing
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In the context of Internet routing, a routing domainiscalled (Choose the BEST
option below).
a. arouting island
a routing cloud

b
c. an autonomous system )
d www.FirstRanker.com
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Which ONE of the following routing protocols is used by BGP (Border Gateway
Frotocol)?

a. Pure Distance Vector

b. Path Vector

c. Dynamic Source Routing

d. Link State
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Routing using BGP (Border Gateway FProtocol) focuses on . (Choose the BEST
option below).

a. policy based routing

b. least delay routing

c. maxthroughput routing

d. multi-path routing
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a. always the same as that used by BGP
b. always based on distance vector

c. always different from that used by BGP
d. independent of what is used by BGFP
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When should an ISP export routes (IP prefix information) it has learnt from its provider
ISP to another ISP with which it has a peering relation?
a. Always
. Never

b
c. Onlywhen it has exactly one provider
d. Only when it has at least two providers
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Which ONE of the following is a relation between |5Ps (Internet Service Providers)
which DOES NOT usually involve money exchange?

a. Provider-customer

b. Router-forwarder

c. Peering

d. Firewall-protectee
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At least one
At most one
C. ﬂmyﬂumber
d. Anyeven number

below.
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When should an ISP export IP prefix information it has learnt from its peer ISP to its
provider ISP7?

a. Always

b. Never

c. Only when it has exactly one provider

d. Onlywhen it has at least two providers
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A router in a particular Internet domain runs both EGP (Exterior Gateway Protocol) and
an IGP (Interior Gateway Protocol). Its forwarding table will be based on

a. Both EGP and IGP

b. MNeither EGP nor IGP

c. Only EGP

d. OnlyIGP
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How many root servers are present for DNS (Domain Mame System)?
Exactly six: one per continent

About 200: one per country

Exactly 13: not uniformly distributed across continents

About 300 not uniformly distributed across countries

/o oo
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An Internet host can have both a hostname and an IP address as identities. Which ONE
of the following is an ADVANTAGE of IP addresses compared to hostnames?

a. Itis easier for humans to remember IP addresses

b. Itis easier for routers to route based on IP address

c. |P addresses are hierarchical, hostnames are not

d. MNumber of IP addresses possible is much more than number of hostnames
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Which ONE of the following information must ALWAY'S be present at a local DNS
server?

The IP address of www.google.com

The N5 record of www google com

The IP address ofthe root DNS servers

The security credentials of at least one search engine

o o
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Which ONE of the following is TRUE with respect to a machine on the Internet?
a. A machine can have only one IP address but multiple hostnames
b. A machine can have only one hostname but multiple IP addresses
c. A machine can have only one IP address and only one hostname
d. A machine can have multiple IP addresses and also multiple hostnames
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Which ONE of the following is the DNS record type relevant for sending emails to a
particular email address?

a. Arecord
b. B record
c. EM record
d. MXrecord
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The original DMNS used a centralized hosts. txt file. In what significant way was this
architecture changed to pave the way to the current DNS architecture?

a. The text file was replaced with database records

b. The text file was replaced with binary format

c. Adistributed architecture was adopted for better fault tolerance

d. Multi-language support was added
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How many top level domains does the DNS name hierarchy have?

Exactly six: one per each (inhabited) continent

Exactly 12: one primary + one backup per each (inhabited) continent
Exactly five: .com, .org, .edu, gov, .net

Several 100s

= BT
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In the context of DNS, ICANN (Internet Corporation for Assigned Names and Numbers)
is responsible for maintaining .

a. the web servers of each top level domain

b. the root server replicas

c. the mail gateways in each domain

d. the tier-1 autonomous systems
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The current DNS has a implementation and management.
centralized, centralized
distributed, distributed
centralized, distributed
distributed, centralized

/O oOoon

2886078730. 1
2886078731. 2
2886078732. 3

2886078733. 4

www.FirstRanker.com



» FirstRanker.com

A Firstranker'schoice )
www.FirstRanker.com

DMNSuses  forqueries and _ forreplies.

a.

b
i
d

UDF, UDP

L HER: TGE

UDF, TCP

. TGP, UDP
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Which ONE of the following is true about the transport protocol used by HTTF 7

d.

b
&
d

It uses only UDP

. ltuses only TCP

It uses UDP and TCP in every download

. ltuses TCF for download and UDF for upload
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In the context of HT TP, non-persistent connections refers to the use of:

a.
b.
C.
d.

unverified server certificate

UDP for some HTTP downloads

a separate TCF connection per-HT TP-object
different browser tabs at the HTTF client
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. IF-Modified-Since

. I-None-Match

Host

User-agent
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A HTTP object refers to (choose the BEST option below).
a. aHTML page or an embedded JPG image
b. only HTML pages and not embedded images
c. not HTML pages but only embedded images
d. only the web server certificate
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Which ONE of the following is a HTTF method used to send HTML form data from the
client to the server?

a. SEND

b. POST

c. SUBMIT

d TRAMNSFER
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. text, fixe

a
b. text, variable
c. binary, fixed
d. binary, variable
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A response code of HTTP 200 refers to:
a. aDNS lookup error of a web server's name
b. aresponse from aweb server indicating success
c. the web server being unreachable due to network outage
d. an unrecognized server certificate
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In a HTML webpage there are two embedded JPG images. Which ONE of the following
statements is TRUE?
a. Both JPG images have to come from the same HT TP server as the main HTML
b. Both JPG images have to come from the same HT TP server, but it can be
different from that of the main HTML
c. At least one JPG image has to come fromthe same HTTP server as the main
HTML

d. The JPG images and the main HTML can all come from three differentHTTP
Servers
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Which ONE of the following protocols can potentially be used by a mail user agent to get
a user's emails?

a FTP

b. SNMP

c. ARP

d IMAP
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Which transport protocol is used by SMTP ?
a. Only TCP
b. Only UDP
c. TCP for email headers and UDP for email body
d. SMTP itself is a transport protocol
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A process P1 has been running on the CPU for a while, and at time=t0 the O%5 decides
that it is now time to schedule another process P2 as P1's turn with the CPU is now over
(temporarily). Now when P2 is made to run by the OS, what is the STATEof P1 7
Choose the BEST option below.

a. Blocked

b. Ready

c. Forked

d. Signaled

2886078778.1
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In Linux, which system call is used to spawn a child process?
a. fork()

b. divide()

c. wait()

d. exit()
2886078782. 1
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Which ONE of the following best describes a “system call” in the context of a process
running on a computer with an operating system?

a. a function call from application code into OS5 code

b. a function call from the OS5 to the application program’s code

c. a function call fromthe OS code to the network administrator

d. a function call from the application code to the local Domain Name Server
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In Linux, the root user's program’s instructions run in mode; a regular user's
program’s instructions run in mode.
a. user, user

b. user, kernel
c. kernel, user
d

. kernel, kernel

2886078730. 1
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Which ONE of the following CPU instructions is used to implement a system call?
Select the BEST option below.

a. stdio

b. schedule

c. trap

d. sync
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In the context of an Operating System for a multi-user system, what is a semaphore?
a. aprocess scheduling algorithm
b. asynchronization primitive
¢. aspace for storing inactive process state
d. adynamic memory allocation scheme
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Which ONE of the following is NOT an objective in an Operating System's process
scheduling policy?

a. Maximizing CPU utilization

b. Minimizing process turn-around time

¢. Minimizing scheduling overhead

d. Maximizingthe OS's swap space utilization

2886078802. 1
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A TLB is used to store VA-PA mappings because:
a. It increases security and isolation amongst processes
b. It's cheaper than main memary
c. It makes the address translation faster, on average
d. Mone ofthe other options

28860788006. 1
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In a process’s virtual address space: (choose the BEST option below).
a. The stack grows from higher address toward lower address, while the heap
grows from lower address to higher address
b. The stack grows from lower address toward higher address, while the heap
grows from higher address to lower address
c. Both the stack and heap grow from higher address toward lower address
d. Both the stack and heap grow from lower address toward higher address
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Which ONE of the following is one ofthe roles ofthe OS5 dring address translation?
a. Converting the VA to the PA
b. Maintaining free space information
c. Generating traps
d. Converting the PA to the VA

2886078814. 1
2836078815 2

www.FirstRanker.com



a2 LAY EiRanker.com

www.FirstRanker.com www.FirstRanker.com
2886078817. 4

In the context of paging in an OS, “internal fragmentation” refers to: (choose the BEST
option below)

a. Unusable space between pages

b. Unused space within pages

c. Break-up of a page into integer variable locations

d. Break-up of a page into stack frames
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In the context of memory paging, the term “swap space” refers to: (choose the BEST
option below)
a. a portion of OS5 memory used to copy variable values across processes
b. the top part of each page used to store dirty variable values
c. a partition of hard disk where temporarily unused memory pages are stored
d. asubset of CPU registers used for synchronization variables
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Which ONE of the following is NOT shared across multiple threads of the same
process?

a. Instruction memory

b. File descriptors

c. Stack memory

d. Heap memory

28800788261
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Which ONE of the following is a CPU instruction which can be used by the OS or an
application to implement mutual exclusion locks?

a  TestAndSet

b. bzero

c. malloc
d. double.add
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Which among the following is NOT an advantage of modern cryptography, compared to
classical cryptography?

a. Analyzed by best minds

b. Low cost in implementation

c. Can work over images, not just text

d. Secrecy of the algorithm gives better security
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In the context of server security, which type of defence is "logging and monitoring a
server'?

a. Detect

b. Recover

c. Prevent

d—Deter

www.FirstRanker.com
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Using English alphabets, monoalphabetic cipher key space is about: (choose the BEST
option below)
a 26
b. 52
c. 26 factonal
d. 2 power 26
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In cryptoanalysis, global deduction means: (choose the BEST option below)
a. finding the key
b. finding an alternate algorithm that helps in decryption
c. deriving plaintext (in full) from ciphertext
d. deriving partial plaintext from ciphertext

2886078846. 1
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In DES, each round key is of size (in bits):
a 32
b 48
c. 64
d__96

www.FirstRanker.com
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In CBC mode, if cipher block i is corrupted, which blocks of plaintext are also necessarily
corrupted?
a |1
b. i+1
c. i+kwhere k is the key length in bits
d. +k-1Twhere k is the key length in bits
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In the context of cryptography, what is the modular inverse of 7 mod 137
a 1
b 2
c. -f
d -13
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Which ONE of the following is true of Merkel-Damagard construction? ¢ is a input to the
compression function and d is the hash output.
a. c0 has to be private
p g

b
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Ifthere are 23 people in a room, what is the chance two have the same birthday?
Choose the BEST option below.

a. About 50%

b. About 25%

c. About 4%

d. About 1%
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For a 1000 bit message and 160 bit hash, how many messages on average map to the
same output?
a. 160

b. 2 power 160
c. 840
d. 2 power 840
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absolute values error function
b. The sum of cubes error function is preferred to the sum of squares error function
c. The sum of absolute values error function is differentiable at all values of w
d. The sum of absolute values error function is discontinuous at some value of w
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Which ONE of the following statements is correct?

a. Maximum likelihood Estimation (MLE) takes into account prior belief/knowledge
about the parameters

b. Maximum Aposteriori estimation (MAF) takes into account prior belief/lknowledge
about the parameters

c. Maximum Likelihood Estimate of a parameter will always be lower than the
Maximum Aposteriori estimate

d. Maximum Likelihood Estimate of a parameter will always be higher than the
Maximum Aposteriori estimate
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Suppose you are given the following prior probabilities for coin with parameter p as the
probability of heads. p has only two possible values as per the prior: Pr{p=0.4)= 0.6 and
Frip=0.8)=04. We observe three coin tosses landing twice on heads and once on tail.
Use this prior to find the MAP estimate of p instead of the MLE estimate.

a 04
08
0.25
05

=T
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What kind of behavior is expected when a graph between mean squared error (on the
test set) and degree of polynomial to fit is plotted?

a. Monotonically increasing

b. Monotonically decreasing

c. First increases then decreases

d. First decreases then increases
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Regression is called linear when (choose the BEST option below)
a. itis capable of fitting y as a linear function of x
b. itis linear in the w vector
c. it can address linearly separable dataset
d. error decreases linearly with dataset size

2886078890. 1
2886078891. 2
2886078892 3
2886078893. 4

www.FirstRanker.com



